Trigonometry Worksheet 6 - Answers

. Describe the difference between the
graphs of f(z) = 5x? and g(x) = 1022

. Describe the difference between f(x) =
=5z + 2 and g(z) = —bx

. Describe the difference between f(x) =
42 + 6 and g(x) = —42? — 6

. Describe the difference between f(x) =
23 and g(z) = 23 + 1

. Is the function 22 +%? = 8 even or odd?

. Is the function y = 2(x + 4)? even or

10.

odd?

How does the graph of f(z) = 2 + 5z
and g(z) = (z + 2)? + 5z + 10 relate to
each other?

How does the graph of f(x) = sin(x)
and g(xr) = 0.5sin(x) relate to each
other?

How can you sketch the graph of f(x) =
5%, using the graph of g(x) = —5z2.

How can you sketch the graph of
g(z) = (z + 2)* + 2, using the graph
of f(z) = —bz?.

(©2012 Shmoop University, Inc. All rights reserved. For classroom use only. Want to print this out for your

classroom? Go for it. All other reproduction and distribution is prohibited.

http://www.shmoop.com/calculus/
Shmoop will make you a better lover (of literature, math, life...)



